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Time Allowed : 10:00 a.m. to 12:00 noon (2 Hours) Total Marks : 100
(1 mark for each question)

Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from
1-48 are printed in order in the Question Booklet and ensure that the OMR Answer-Sheet
belongs to him/her only. In case of any discrepancy, immediately inform the Invigilator
to replace your Question Booklet/OMR Answer-Sheet.

IMPORTANT INSTRUCTIONS

Do not open the Question Booklet before 10:00 a.m. in the Examination Hall.

Read the questions carefully before marking the right answer with blue/black ballpoint pen only
in the appropriate circle of the OMR Answer-Sheet, as firstly there is provision of negative
marking of > mark per question for wrong answer, and secondly no extra OMR Answer-Sheet
will be provided for any mistake or correction.

4+ In cases where candidate selects more than one option of a question, the question will not be
evaluated.

4+ In case of use of Non-Standard OMR Answer-Sheet, the candidate must properly write his/her
Roll No., Question Booklet Serial No., Question Booklet Code in the space provided in the OMR
Answer-Sheet by shading and by writing in alphabet and numerical on the front page as well as
on the back page. Otherwise the OMR Answer-Sheet will not be evaluated.

4+ Candidates will have to sign twice, once in the Photo Attendance Sheet presented by the Invigilator
on duty after taking their seats in the Examination Hall, and the other, at the time of handing over
their OMR Answer-Sheet to the Invigilator after the completion of the Examination. Cases where a
candidate has not signed while submitting the OMR Answer-Sheet, he/she shall be treated as absent.

Candidate should clearly write his/her Roll No. in the space provided in the Question Booklet.

The candidate should make sure that the Question Booklet No. and corresponding Question
Booklet Code is properly written/shaded in the OMR Answer-Sheet by him/her. For example, in
filling up the Question Booklet Code, if the candidate gets Question Booklet Code ‘A’, then
he/she should fill up ‘A’ in the box provided in the OMR Answer-Sheet and also shade the circle
‘A’ in the OMR Answer-Sheet.

4+ Candidate should do all the necessary rough work on the Question Booklet in the space provided.
Rough work should not be done on the OMR Answer-Sheet or on any other paper. If any rough work or
overwriting is done or whitener is used on the OMR Answer-Sheet, the OMR Answer-Sheet will not be
assessed.

+ In case of any discrepancy or confusion in the medium/version of the questions, the English
version will be treated as the authentic version.

+ No candidate will be allowed to leave the Examination Centre during the examination hours.

+ Any candidate found using unfair means including carrying restricted items like mobile phone,
calculator or any electronic gadget or objectionable materials, etc., which are not allowed in the
examination halls/rooms shall be disqualified.
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AR #CS CTCeT, TR 22ATe 2fols At go1 Ted (ewid T Y2 YIS THH AR G=2
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+ I ATFR A AT T GF WF [FE ed P FEw, ok (iR eRfoa @
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TR PR ¢F% I 932 ARIPPF fred OMR Tea=@fs AT 79 FCS T | Il
OMR T@a7(ad e S 2 1 |

+ AAmiwece WAwED @em To @ TeARfe Ata YN qwA P00 A, AWK S A
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SRATETEE WAl A0 | {SSTieR Wiemar AeAeEE @b 6 oo v fof qeq
JEM o foemeaE @em g 98| A o 9 e aREREE (rough)
Tt feemfen wemsen e foRen forRfé (overwriting) @reHie UST YER e
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1. I SR (FIC Bl FifRe 2

(A) CEIRHT (B) 7=

(C) T (D) TR o 7=
1. T qreRee) (@ Aoy FeafReer 2

(A) SR (B) R

(©) T (D) dom T
1. SH TSRIeR TREfife JRee?

(A) TTEREHT (B) go&EA

(C) wHsawA (D) foErf qrEat =t
1. Who established the Varman dynasty?

(A) Bhaskaravarman (B) Pushyavarman

(C) Samudravarman (D) None of them

O O N

2. fEfTRoTem (Free SReq AT—P! <4F - (STCCTeT SNRe ?
(A) =T (TETRTh (B) ¢ FaIfers
(C) ¢ TR @G (D) TR G 72
2. frafeferm W & 2429 SRreT Treq- (EEeEe f2ee ?
(A) =T TR (B) =TS efexifop
(C) =76 Ty @fo% (D) dE (FTs T
2. TMERE SFEH "o YiaH fiifs Governor-General 31 GHE?
A) TE SATER (B) <€ wuiaferd
(©) e feram It (D) foraRfy Tme T2t
2. Who among the following was the first Governor-General of India?
(A) Lord Dalhousie (B) Lord Cornwallis
(C) Lord William Bentinck (D) None of them

3. PEAE LW TR SN (T 112 2

(A) wEmwm 9B ReE (B) W=mIm gl

(C) =l (D) W &l 727
3. PINHCA A PR SFITHE (F e 2

(A) TTEW ISR LTS (B) W==m gl

(C) Meregaret (D) dom @T2
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3. wmmeul fifafim gitem meefifen grEm?

(A) HEHE SEfdIR TS (B) wewHe gl
(C) R SEen (D) forERfy ame T=t
3. Who was the first Muslim invader of Kamarupa?
(A) Muhammad Bakhtiyar Khalji (B) Muhammad Ghuri
(C) Mir Jumla (D) None of them

4, IS O AYTARS M TGS TSRS TR T FLAR G (2T Bel F Flel SR

(A) 1904, AT (B) 1906, FferFel
(C) 1907, HaT® (D) 1916, =(C3
4. A DS PR S TSR ASCANS AN Gy “FAS *A15 A2 FCARCI |
(A) 1904, ICFCS (B) 1906, FfrFreR
(C) 1907, G (D) 1916, SCFICe
4. ‘@S GREE! RTHTE A3 il ©e AEREE HIEH SYHT SR SER SR S
(A) 1904, 5 (B) 1906, =HicTehrdl
(C) 1907, g (D) 1916, <@t
4. The word ‘Swaraj’ was first used by Dadabhai Naoroji in the Congress Session held in
at
(A) 1904, Bombay (B) 1906, Calcutta
(€) 1907, Surat (D) 1916, Lucknow

5. I A4S 2rg9 I nifee

(A) 2oL (B) ©%IALT

(C) I (D) W2RE
5. A IEER Prel (@ focew 2

(A) ST (B) AL

(C) wRRET (D) W=RE
5. TS gvaeH fommer g ?

(A)  THTRLEE (B) TEREEH

(C) e (D) wHeraeH

5. Who was the father of King Harshavardhana?
(A) Prabhakaravardhana (B) Bhaskaravardhana
(C) Jaivardhana (D) Mahavardhana
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6. 127 T2PTS 1915 519 22FART T S0 (22w
(A) KIS (B) 9eT2<qwe
(C) @v® (D) WA «@ble 7=

6. 1915 3 ALTACE & 29 T2PTe] SHPS 2qTRe

A) =FmEIE (B) geTr=ImCH

(C) [T (D) «gler @FRne T
6. 1915 wEeTEAE FfafeE forg TemvE @ SemH

(8) =fEr (B) UATETEEE

(C) AT (D) SHRA AFH TST
6. The Hindu Mahasabha was organized for the first time in 1915 at

(A) Haridwar (B) Allahabad

(C) Varanasi (D) None of these

7. IR T @I A el fafee 2
A) wHEES (B) fuPrz
(C) TTT_REe (D) THFRS

o~/ /

7. & A AR 21T FCATRCE ?

(A) R (B) bz

(C) TRTRRE (D) TERE
7. HiTES HHTEH i< €1 Jelftham ¢

(A) IS B) fowafés

(C) ArrE (D) =St

7. Who rebuilt the temple of Goddess Kamakhya?
(A) Sukladhwaj (B) Biswa Singha
(C) Naranarayan (D) Chakradhwaj

8. B *FIET e < & =fest 2

(A) T =R (B) STopiEml (7dl

(C) il *I=fel (D) [ Gl 7=
8. WNB *FIMCIA @ (& foeetal 2

(A) =TSl R (B) TepmEm (il

(C) ™3 IS (D) GR (T3
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8. fm=d yreRcd fommn drRHE?
(A) T 313 (B) gl ot
(C) =t Tt (D) forEaRfy TmE T2t
8. Who was the mother of Srimanta Sankardev?
(A) Khersuti Ai (B) Satyasandhya Devi
(C) Devi Parvati (D) None of them
9. A GRTEIET (FARIF! TECS BGABS qNTe FfCsT T RO Swaq qeprelta wifzfes 2
(A) = 5IG @ (B) TIferw o™
(C) o= fcewerzat (D) TR Q& 727
9. A RTHIE-G (PN AGTS SEI TS TR Gy FIAN SR FACS LA AR GCARCE 2
(A) TR 5T @l (B) T3femy o
(C) o fcmeTzs (D) €T (T3 T
9. UM TfwegH OR TEERU A fafrafcmmE [ode S el e BHE - AR
BELRETILIE K
(A) TR o9 T (B) Szferam Bfh|
(©) A faereTsa (D) foraRfy ame =1
9. Who among the following ambassadors of Queen Elizabeth visited Akbar’s court to obtain
a Firman for trade in Gujarat?
(A) Sir Thomas Roe (B) William Hawkins
(C) John Mildenhall (D) None of them
10. ‘IR GRCbT 22Ee Mo (oA AE F'© (2f%e 2
(A) 1905, tgowe (B) 1904, %I2O®
(C) 1905, wRF7TS (D) 1904, @RZTS
10. “SIPTH SHICNICME -« 2029 Tl 303 @33 (AR SHPe 20fes 2
(A) 1905, fegorce (B) 1904, A=MHCe
(C) 1905, FMT7[CF (D) 1904, @F2IH
10. Assam Association 1 fiifsr Tem grsett 3 seE SEHE?
(A) 1905, fegme (B) 1904, @
(C) 1905, ARG (D) 1904, SRE
10. When and where was the first meeting of the Assam Association held?
(A) In 1905, at Dibrugarh (B) In 1904, at Guwahati
(C) In 1905, at Lakhimpur (D) In 1904, at Jorhat
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11. SE SO AR TSI (Flel SR 2

(A) FIWE Sl SR (B) = BIgH

(C) ={ AT BN« (D) TR & 7=
11. FE SPICHE 2 AT (P foger 2

(A) FFme Il SIRCm (B) T TgE

(C) TR ST ZRWI! (D) dF (Fes T
11. 31 et fifs v sfifer arae?

(A) HEEREA A ATEHT (B) &R @iggl

(C) R 3TeheR FTEEN (D) foRfy dmaat F=1
11. Who was the first Governor of independent Assam?

(A) Fakhruddin Ali Ahmed (B) Sir Saadulla

(C) Sir Akbar Hydari (D) None of them

12. P &ibr =R [eaifEer sa1 a2qws@igt afe @ =iz 2

(A) e Twge (B) CoIEE (I

(C) W™ == (D) f&CaN yfer gl
12. SPIIC &G i Reaifden w1 @2 afe (@ foeer 2

(A) Tored Tpa (B) (5TNE (SRS

(C) W= e (D) f&Ta gferm <T@
12. ImamE gaw gered! ffafem g g gger et

(A) ToRreht g (B) THER wiaR

(C) W™ &= (D) Torerm gfern s
12. Name the first man to oppose British administration in Assam.

(A) Piyoli Borphukan (B) Gomdhar Konwar

(C) Maniram Dewan (D) Jeuram Dulia Baruah

[

13. SERCESIE (AN TS G FRMRE 2

(A) =37 326 (B) 27 316

(C) e~ 346 (D) =&~ 356
13. HERESR T (e SRS SIFA| FCARCE ?

(A) 326 g e (B) 316 g 7ficwr

(C) 346 e et (D) 356 e 7ficst
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13. 3MCIhVER] HRAE! HT HTATEATE TRea e ¢
(A) wsf T 326 (B) wsf famm 316
(C) Tl R 346 (D) Teh R 356
13. In which year did Alexander invade India?
(A) 326 BC (B) 316 BC
(C) 346 BC (D) 356 BC
14. e Tq9fé smif¥e’ o (Pl @2 o ?
(A) e (B) 2T
(©) «ferwD (D) <=
14. e ‘Tqufe smia’ fafrie @in 929 o ?
(A) Sres (B) 2CeTH
(C) «ferF D (D) =mar
14. e T welE’ o1 Mere SF™ o6 Gt aJTen?
(A) 3Tsid (B) z@
(C) TfeTwr= (D) ==
14. The famous Trimurti Sadashiva’is the part of which among the following caves in India?
(A) Ajanta (B) Ellora
(C) Elephanta (D) Bagh
15. "SR’ AANARIF] A0S (Pl e 2
(A) To T AT (B) M calrzrfge aeal
(C) e I (D) A e
15. “SRECAVA’ -3 22N TS (@ focer 2
(A) ©. T AT (B) oMY (o2 I
(C) ®omY TG (D) e (e
15. ‘sves (4 fifa gyfifen am?
(A) So FTATT S (B) URMTY TR seat
(C) ST T (D) o #fy
15. Who was the first Editor of the Arunodoi?
(A) Dr. Nathan Brown (B) Padmanath Gohain Baruah
(C) Jagannath Baruah (D) Bishnuram Medhi
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16. RI-SHCS p& SO (F SCHES FC Giow S[fee ?

(A) (T Toraz (B) SN2 S
(C) Spr=aEl (D) =@ w9l
16. MHI-SHTE & SRGIRT (@ ACHRICH 0% TS 291 ?
(A) =B Terez (B) I I
(C) Spr=al (D) T =T
16. T -TRST MRS YRAH o AHTEHRARIST GrHwa! THTE 7
(A) TAATRE RN (B) e WA
(C) THNE B (D) A TR
16. The Gandhi-Irwin Pact was associated with which of the following movements of India?
(A) Rowlatt Satyagraha (B) Civil Disobedience
(C) Non-Cooperation (D) Quit India

17. (Y @S HGRS(F 2ADR (A AgReq ©2 (-1 TR 2
(A) o’ (B) ‘e’
(C) ‘wEEw’ (D) TR
17. (@ @ 11T bl @ sigieq o2 e I/ 2

(A) ‘ecaw (B) ‘qecd’
(C) ‘wfew (D) “STRICw
17. &9 92@ Memie dfes g ey am?
A) ‘e (B) ‘=gei
(C) ‘s (D) ‘wmeE
17. Which Veda depicts the information about the most ancient Vedic age culture?
(A) Rigveda (B) Yajurveda
(C) Atharvaveda (D) Samaveda

18. SPe IfSFD Gel Moice! FI9 Sl et 41 29 2

(A) TE o™ I (B) CSICom I

(C) =Tfb® Tag (D) C&d &I
18. FF Tl =PI SfeRe® Fiol W 2o “ifers =12

(A) FE confim I (B) CoIComd I

(C) =fos IRFF (D) CTSR LI
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18.

18.

A G S AR Tog am 78 S S

(A) TuTT formg st (B) YIaT S6d]

(C) I THeHA (D) UK &IH ==

Whose birthday is celebrated as Abhiruchi Sports Day in Assam?
(A) Radha Govinda Baruah (B) Bhogeshwar Baruah
(C) Lachit Borphukan (D) Major Dhyan Chand

19.

19.

19.

19.

CITOR SO FLCAR 791 TR W2 eAvm P 6 we 90w Fiee 2

(A) i «1ib (B) e +(ifo

(C) TMS 75 (D) 3G et =y
SRR SO T (ACF FJAF 2 F[IRGY 7] (I 7@ 9197 FCARCT 2

A) Feferm = (B) et

(C) TFAEAT 7% (D) BFGAM yPeIE Sifsf

Indian National Congress %™ AT@RAEM @ GAT =% g1 o6l TG TAEGHH 7
(A) Trorfsererm aifé (B) wfferee wifd

(C) TS sk (D) =M FEe i

Which party was established by Subhas Chandra Bose after he came out of the Indian
National Congress?

(A) Republican Party (B) Socialist Party
(C) Forward Bloc (D) Indian National Army

20.

20.

20.

20.

DFEATNE 211 (PSRRI (FIeel (D€ TSI TS FReT 2

(A) = TeE (B) firy Pz

() oy Pz (D) TR & 7=
DI (ACF (FIORRE (F SR A BABRS FCARCE 2

(A) =2 e B) g Ficz

(C) fru iz (D) €E (T 7T
AR T TSematE e FefreRiim deeeme?

(A) Efe wose B) Ty fw

() fova fae (D) fordf Tme =
Who shifted his capital from Chikangram to Cooch Behar?
(A) Haria Mandal (B) Sisu Singha
(C) Biswa Singha (D) None of them
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21.

(o Ja2 ol e #R[f1e e 91 31 (@qraoreca [T a1 323w 2

(A) (B) FrRweR
(C) e (D) fough
21. (Tad1 P S @ NN I7 S TCICaR 2/ AR #e Feafecer
(A) EIECS (B) T
(C) e (D) foagd
21. " g8 SEEEM G Parinirvana HHARE A JEATGRT T6 STRATET HIAT?
(A) T (B) FRAR
(©) T (D) gz
21. Name the place where Buddhists believe Gautama Buddha attained Parinirvana after his
death.
(A) Kaushambi (B) Kushinagar
(€) Budaun (D) Chitrakoot
22. UBYT TSR TSFR (I S 2
(A) <rreg (B) [
(C) o Fw (D) wagfe
22. UBYT TSR & &CoM 2
(A) <rreg (B) eIl
(©) % 99 (D) =T9re
22, TSTEH UM TremgRifen aram?
(A) wmTE (B) wfE
() == = (D) sgfd
22. Who was the court poet of Samudragupta?
(A) Banabhatta (B) Harisena
(C) Chand Bardai (D) Bhavabhuti

23.

23.
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IR AR 22 SfScTal Sews AFE FHERS @R fNeq T4 w1 2o a9eR Fife 2

(A) TR (B) WK
(C) #rerga (D) WCPsd
SN G 22 SSCeTa] FBWS AUCE Ao (I O T&5 19 BT 229 FCARCeT] 2
(A) TR (B) WA
(C) 7rers (D) WGP




23. aRE 9regd S fifafm fEsma we fffi s af<est s ger
(A) e (B) TETER
(C) iR (D) TR
23. Aideu Handique, the first female actor of Assamese screen, adopted which of the following as
her middle name?
(A) Nilambar (B) Gadadhar
(C) Pitambar (D) Maneshwar
24. 1923 B9 (P “FAI& 71 510w Fia=e 2
(A) eeTe (e o fb. =, 7 (B) DI TR S (AT (BOI&T
(C) ONRIE SF G (T2 (D) SR REFF U SIF [qLeTS12 (oIChe
24. 1923 e FI7E A G v ol 2eaieE ?
() TeeTet e @) . @, v (B) e I=1eT @< TS BIBTE!
(C) oTRIE G TSTIEAR (2T (D) S o Ui @G3R fgerer® e
24. 1923 7@ R WS T @l TEEEHHA?
(A) HfeTe J8% AR o 3o T (B) TieH TN AR S FIN
(C) TIFefiSTt 3R STetetTe J5% (D) 3ATeFA TR @H AW faoasmE wed
24. In 1923, by whom was the Swaraj Party founded?
(A) Motilal Nehru and C. R. Das (B) Sachin Sanyal and Jogesh Chatterjee
(C) Gandhiji and Jawaharlal Nehru (D) Abdul Ghaffar Khan and Vithalbhai Patel
25. ¥ T RS FRCAPAT 6 I oifes 2
(A) ¥RT QI @l (B) =
(C) WS CTAm CeTIaT (D) WIS G4 &<
25. T AGE A FABHPA T PR FI oz 2
(A) TN FICHF 6N e (B) [ F4I
(C) AICE qm 229 <541 (D) SRGE Q6M (et
25. ER TSI TRiET AR R R
(A) S AR (B) W™
(C) AERE! g™ (D) S& A
25. What was the role of Laimekuri’ in the kitchen of Ahom King?
(A) Supplier of firewood (B) Cook
(C) Testing of food (D) Supplier of meat
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26. IATAIY I 52 2SS Fi2H T TIFH PaRe! 2
(A) FRIE RFerem (B) SIS sl
(C) oI Preg I (D) IHBF F AT FD
26. TG I[P (T WO ARGAIT T2 TAM ©pia] FeARCe 2
(A) IFR (B) SIfeTaRI SRS TOrIe
(C) =o1R PrR-93 Ff (D) SBF G FLCR-GF FIPT
26. TEAY SFU WIH SR@T WIATHAT TEH Knighthood fowt TRamA?
(A) I FEEEE (B) STTEMaTATERTH JATEGAE
(C) wa faf wifa (D) TSTE TR GEaa Hif
26. Rabindranath Tagore renounced his Knighthood in protest against the
(A) Partition of Bengal (B) Jallianwala Bagh Massacre
(C) execution of Bhagat Singh (D) execution of Rajguru and Sukhdev
27. S SF (WOEPTF 6o 22 I HRLEE 91 Cafeet | (o 390 (o] S 2
A) FemIGT 99 (B) *_iz=ina 99
(C) BGIYEN T (D) QECHI7NE F9
27. SRR I 12e T2 G3R TR [0 AN o | TSAACHA [0 O o (0 26 2
(A) LA T& (B) TR I@
(C) TmHeR I& (D) QPR =
27. WUNH IEEEF T AR FPIAGRM o S fifd areer| fomf Tse s Saen g amE?
(A) TSTHIGH FTe@t (B) HU=ETAM STaRT
(C) gl gramt (D) SIffTeTt gTeET
27. The Battle of Samdhara was the first battle between Ahoms and Mughals. Which was the
last battle between the both sides?
(A) The Battle of Rangamati (B) The Battle of Saraighat
(C) The Battle of Itakhuli (D) The Battle of Jogighopa
28. 19259 ‘RN & T’ (I FIo FIIMRe ?
(A) ST T A (B) &I TEFe AN
(©) ceeseE Aelfoel (D) f5. =IR. W
28. 1925 A (F “(FRI FAG 7@l Blole FCARC 2
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(A) ST TS AT (B) FI&! «Toee] eI
(C) @™ s (D) 1. ==,




28.

28.

1925 374 WX &S g-Srdl 91 SR ?

(A) 3ATsgA TH @H (B) TSIt ST%ct TEATH
(C) ST ST (D) o R0 g™

The Labour Swaraj Party was set up by whom in 1925?

(A) Abdul Ghaffar Khan (B) Kazi Nazrul Islam
(C) Joseph Baptista (D) C. R. Das

29.

29.

29.

29.

@ FB IAE FIFR (T GCADE AR ARSZAND] S - (oD ?

(A) dret (B) fe=
(C) TR TR (D) fafbs
@I F62 GIR FIEAR (Pl Tefied qfamma Az izl ¢ 2
(A) el (B) foem
(C) AT R (D) fafee
T3 T I TS el g TerTra®RiS SRt T ?

(A) T (B) faam
(C) &9 FBR (D) fufa

Koum Kontong and Kambang are the traditional dress for women of which tribe?
(A) Rabha (B) Tiwa
(C) Sonowal Kachari (D) Mishing

30.

30.

30.

30.

(I BT T9MCES SPTH 21 #20F C2fee ?
(A) 1961 (B) 1962 (C) 1963 (D) 1964

L TCE VAT ST (A 7P 2= 2

(A) 1961 (B) 1962 (C) 1963 (D) 1964
ANTAVEST AT AT ARSI TeETEHI ¢
(A) 1961 (B) 1962 (C) 1963 (D) 1964

In which year was Nagaland bifurcated from Assam?

(A) 1961 (B) 1962 (C) 1963 (D) 1964
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31.

31.

31.

31.

T[] J2N TG (PICHT 2

(A) IFm (B) e (C) =PI (D) TR
TG A 2 SOl (G 2
(A) < (B) e (C) e (D) IR
TG T R Frergan w17
(A) = (B) fewh (C) R (D) geHfR

Which is the largest tributary of the Brahmaputra River?

(A) Barnadi (B) Dikhow (C) Dhansiri (D) Subansiri

32.

32.

32.

32.

CPIICH] BRI SRR ([EIPAE Seel) S IS 2w Fiiee 2

A) FRPTERS SEe ST iR ol (B) et = 12 fesfwsrer

(C) IROIS TP P = AT (D) (SS[ET SR HA

SR (AERRCE Sl T ‘TS (] AP (AP (el 2CRM%e 2

(A) =PI 2wy Tel, RRTeR (B) = fe feafmrera, et

(C) Pz AR, B (D) SPIRIEI &1, (w7

TR el STHIRT ALHATY ASeal &g o s @t grame?

(A) IE™ |ifEe 9, ReErRE (B) weft g gepmanarienter, SHETa
(C) TE™ B AfUTH, TaREE (D) STHHT FATE, dSTgE

The unique title ‘Roxoraj’ was given to Lakshminath Bezbaruah by which institution?
(A) Asam Sahitya Sabha, at Sibsagar

(B) Kashi Hindu Vishwavidyalaya, at Varanasi

(C) Asom Chatra Sanmilan, at Guwahati

(D) Asomiya Club, at Tezpur

33.

33.
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Too1Cl SICwIeTe fF2q IS A1 98 91 C2fme 2

(A) <= (B) T (C) I (D) “Rs4
Do SICwIeTe SRFFCOR Tl T ] 2R |
(A) e (B) weTgf (C) =Ry




33.

33.

e’ Sifgemse aret XaEnfy A1 JTEm™ SrTeEEHE ¢
(A) TTEETR (B) & (C) T (D) ~a-F=
The Chipko Movement was launched for the protection of

(A) grasslands (B) wetlands (C) forest (D) livestocks

34. SPE NI FREDRT S (e S1ReT 2

(A) STTTT STRF] (B) o 72T

(C) TS o2 (D) SO 1359
34. PR QNI FREHIER e (& foge 2

(A) TV RSP (B) o 2

(C) pre =T (D) STremme #1234
34. @M Mobile Theatre T arffifen ar?

(A) WM TEH (B) I TEH

(C) 3TYd gL (D) HIAMTY g
34. Who is the founding father of Mobile Theatre in Assam?

(A) Sadananda Lahkar (B) Ratan Lahkar

(C) Achyut Lahkar (D) Sitanath Lahkar
35. CTEered OTs 212 (3%

(A) (B) 2TCFD (C) W= (D) “fed
35. GTaseced & 220 &

(A) (B) 2T C) W& (D) it
35. Solar system T3 Mol wg’an STEt

(A) (B) ¥ (C) G (D) o
35. The green planet in the solar system is

(A) Mars (B) Uranus (C) Venus (D) Earth

36.

36.
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BRITe SRS (1 33T B (41 AfScaieR wews’ (Mascot) Slifzs

A) o= (B) I () 3fea (D) JAcHBeT
FARGICS TP 339 B (o1 AfScaforer WP’ -9 9 F fee 2
A) foe= (B) (C) =fes (D) I[P




36. TATEIATE S 33 T3 2 oM SeEaEAE qeke get w?

A) faer (B) WA (C) e (D) sfrem
36. What was the name of the Mascot of 33rd National Games held in Guwahati?

(A) Tikhor (B) Rongmon (C) Rongili (D) Bordoisila
37. (@OF e apRfas o= (20

(A)  CTTRE (B) T (C) o1 (D) 0
37. fRfIRe @M @N Mosm o swged o 2

(A) e (B) -6 (C) o= (D) T©
37. 9991 Wy few [ MATIR Sgwi?

(A) &G (B) Wil (Jute) (C) mX (D) TR omsfra
37. Which of the following is the plant important in sericulture?

(A) Cassia (B) Jute (C) Pea (D) Mulberry
38. ‘wNfbe W1’ (A “[1eT 1 27 2

(A) 24 T (B) 29 =98

(©) 2 fersa (D) 24 SCFRT
38. (F Iy wMfbe W’ “ere 41 27 2

(A) 24 TCIF (B) 29 w976

©) 2 o (D) 24 SFRA
38. ‘o fa@ '@ 99 WieTRE wifeHT S ?

(A) 24 TR (B) 29 TTE

©) 2 feomr (D) 24 TFR
38. ‘Lachit Diwas’ is being celebrated on which date?

(A) 24th November (B) 29th August
(C) 2nd December (D) 24th October
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39.

39.

39.

39.

TS ©% FIK FEFE I SR 2

(A) e (B) (s
(C) ISR ST (FA1F9) (D) SReF 2 R

EIRPTSl (B0% (TSTIF SIEFR FI9 S0 2

(A) =4 (B) AEfo

(C) TSR S\rF (/) (D) SRCSA 47 R

AeraaTE! fawEAEA MEleT AT o

(A) TITETE "y (B) e

(C) RETH FIfR (D) wRaty Tretg ferforffe

Who has the power to dissolve the Lok Sabha?

(A) The Prime Minister (B) The President

(C) The Speaker of the Lok Sabha (D) The Chief Justice of India

40.

40.

40.

40.

TS IBR AT SFICTIT T R (FO0)F @ Mo SR (@RS AN Ifed T
i =92

(A) wpES (B) LTl

(©) T T (D) =I5 Tqg

TS AT ARSI SFICCHE T FrwRl (FCTH)F A Ao SPICTd (1 M2 i e
el 2T 2

A) wFEE (B) TR

(C) T (T (D) oMfbe T

National Defence Academy (Pune) f seIfaiggel @i =@ (Fe2)Tt B Aded! STHEMH ER
TR I g B S

(A) eSS (B) gHreI

(C) Tt IR (D) I Speh

The best cadet of the National Defence Academy (Pune) is awarded with a medal named
after which brave son of Assam?

(A) Sukladhwaj (B) Sukaphaa
(C) Kushal Konwar (D) Lachit Borphukan
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41. SPTY S15TS BB TN 2 G4 I TG (2R

(A) ST S SO (B) GT7IIe S B

(C) SIS =(<F L] (D) CeT#IIeT =II<F AT
41. SPICR % SIBEAGH S AP 7o Ko g T

(A) AT G2 SO (B) GI#ITT @R TOM

(C) IRITIT @R QIR (D) CeT?ITeT @R QIETICT
41. STHWS TIE ST T T 74 [ FTETRAT Sat

(A) STETERT TR e (B) HUTd AR e

(C) TIFHR AW e (D) T TR STeATeS
41. Name the two foreign countries which have international border with Assam.

(A) Bangladesh and Bhutan (B) Nepal and Bhutan

(C) Myanmar and Bangladesh (D) Nepal and Bangladesh
42. SPT ‘ETRNE ol (SIRORIF Ao e Sl AR 2

(A)  CONATIY FqWCaT (B) @ AN T

(C) T 21w Bferal (D) fgears G
42, (S AGSRY, SR TR’ 2o «fkive 2

(A)  CamPTTIE FwCE (B) ol I P

(C) el 2w Sferz] (D) AN &
42. IEMH R TSET-affeE arel g9 gbae e

(A) T SRE (B) &1 TH b

(©) ferden game =ferar (D) oo Aeft
42. Which politician is known as the TIron Man’ of Assam?

(A) Gopinath Bordoloi (B) Tarun Ram Phukan

(C) Bimala Prasad Chaliha (D) Bishnuram Medhi
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43. FTHRT 2R-oaTe Faew 9 (207
() 2TFD (B) s
(C) 9@ (D) Referens
43. ke @@ FFToR IR GF0 2[E Foow 4FF ?
() 2TFD (B) foresre
(C) =i (D) Gceiferese
43. TEEN & HHEAT computer system T gramit feerfem E‘I’—I’f[ﬁ:’ (unit)?
A) e (B) Tuaea
C) @ (D) frstfersem
43. Which among the following is the smallest unit in an image in a computer system?
(A) Unit (B) Pixel
(C) Array (D) Resolution
44, ‘TfF (o F2
(A) 2GR =R (B) 2 wrwi2w
(C) TR TiR-oFHRn (D) 23WTE (R T
44, R e F 2
(A) 2GR SR (B) =G wize
(C) TR TITTHZT (D) 2BCYICSH 2T
44. ‘Laughing gas’ 3T HI?
(A) TSI 3TEITEE (B) e sreTEe
(C) WTTHR ISR (D) TTEESH U TS

44,

What is ‘laughing gas’™?
(A) Nitrous oxide (B) Nitric oxide
(C) Sulphur dioxide (D) Hydrogen peroxide

45.

45.
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PHRIG TR (TEIFAD IO F GG SATAL 5 2

INIASICIRIES (B) ‘Fwupfer’ (C) ‘"q¥ 3T« (D) “Ffe’
PG TR (@A A0S GFAG ST T Fi 2
A) ‘EmRE (B) ‘Fwler’ (C) ‘or A




45. TS ALHAY ISaar e e 9 /i gt wr?
A) ‘SHfE (B) ‘heHeRfA (C) ‘ugw Fat’ (D) ‘g
45. What is the name of the only novel written by Roxoraj Lakshminath Bezbaruah?

(A) Jonbiri (B) Kadamkali (C) Padum Kunwari (D) Surabhi

46. [T (Bl I@T® =W
(A) @, 9. TS, (B) 2. 9z, IM.
(C) 2. @¥. I[. (D) 9=, 9%, S,

46. REID CPR-9 I7Z7© =
(A) @, @¥. T, (B) 2. @ 9.
(C) 3. @¥. IX. (D) @1, @1, .

46. Remote sensing 3Td sTERN

(A) NMR (B) ESR (C) EMR (D) SSR

46. Remote sensing involves the use of

(A) NMR (B) ESR (C) EMR (D) SSR

47. To ST *RIWR (F4 (AR eI’ TR pHomR eiqe wiHfe 2

A)  SEEE (B) ‘= e’ (C) “T_fa’ (D) ‘e’
47. T. ST BRI (P GO 2% T (RHAER T7- SIS 2

A) e (B) >t Aol (C) T’ (D) ‘crerze’
47. To WSS HEhEH 59 WEYAT S’ g g7’ w7 wrEre faen wremE?

A) ‘e (B) ‘@ T (C) ‘wrfy (D) ‘e
47. Which film by Dr. Bhabendranath Saikia is based on a short story, namely Banaprastha ?

(A) Agnisnaan (B) Sandhya Raag (C) Sarathi (D) Kolahal
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48.

48.

48.

48.

‘GG (o1 =TT (ICeT SN Ffifeet 2
() foez '3

(C) T =g

“GICTST ST AN (SR AR ?
(A) TP @

(C) Tt I

‘Noble gas’ @t firfafem | fegamm?

A) Trem =

(©) Fret smie

Who first discovered the ‘noble gas’?

(A) Niels Bohr
(C) Neil Armstrong

DRI
T TMCR

BlERITGEH
T3ferI AT

a1 srdee
i THE

Neil Bartlett

William Ramsay

49.

49.

49.

49.

R S ANARIF I =D SRS C2c
(A) To Tarm PR

€) . fe. . Jm™

FIR SRCed 22¥ 3y A S (S feger 2
(A) . =Teorm B

(C) . fe. . I

321 yra fifafem mere fsamerafsr s are?

(A) Bo Tz f&
(C) o f1o %o g

(B)
(D)

g, . o oI
AR O

@1, 91, o1 ol
AR O

wHo fo ¥ wHT
gFuR o4

Who was the first Chief Election Commissioner of Independent India?

(A) Dr. Nagendra Singh
(C) K. V. K. Sundaram

(B)
(D)

S. P. Sen Verma

Sukumar Sen

50.

50.

TSR FRF MF[ AATSQIF! 2o FeIfs 27

(A) T TCE)

(©) «3. . Sermrm

TRIOR ST FZR 2 A2 T[S 2ceT
(A) T Teere)

(©) «3. TS, SEpr
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50. Indian Olympic Association 3 ffar 3T|'sf\_rﬁ SRR STrel
(A) U Hleayadt (B) 3T afer st
(C) wHo 3o wreTamE (D) fo o 3m
50. Who became the first woman President of the Indian Olympic Association?

(A) Karnam Malleswari (B) Anju Bobby George
(C) M. D. Valsamma (D) P. T. Usha

51. oTe TCEd 919 fowqe (@@l e[ 26 I9Te =1 2

(A) CIFED (B) oot (C) IZ wrsEn (D) 2
51. ffifie @b iR smef 2o 7T 272

(A) 22D (B) Tl (C) IR wrsize (D) 2=F
51. TEEM Terdl B8 fEa g (lubricant) SEd STETET?

() T (B) fafersst (C) 3T TEa (D) few

51. Which of the following is used as a lubricant?

(A) Graphite (B) Silica (C) Iron oxide (D) Diamond

52. (JI 299 OIS HIFICT SSTFIDT (oICTBY SHICED ST 3. {91, 3. @ICsl (@l I8 TR ¢ 2

<

(A) 2015 (B) 2016 (C) 2017 (D) 2018

52. (P A SRS THFH BCFFIEC (0 THRCE A1 2T, P, 3, @Il @on I8 FRSH 3R 2
(A) 2015 (B) 2016 (C) 2017 (D) 2018
52. W @R 9 HEYTSAE Unified Payments Interface UslT UPI ECIRCIEIERIC] EI'I%EI@HE%?
(A) 2015 (B) 2016 (C) 2017 (D) 2018
52. In which year did the Government of India launch the Unified Payments Interface or UPI?

(A) 2015 (B) 2016 (C) 2017 (D) 2018

53. Fo(C plerrl (5T TS P1R2) (IICH! AT SIere =fes 2

(A) AN FET (B) a4 9=

(C) =2 (D) 2
53. oltns o (Foftre A9 FR) T Affbe fagem 2

A) I @RE (B) T e

(©) =i (D) =2
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53. T3 GioTrw! (a3 A fg) o w1 gt it

(A) STt FiaR (B) &' =M
(C) (D) =1
53. By what name was Swargadeo Sulikphaa (Swargadeo Ratnadhwaj Singha) known as?
(A) Bamuni Konwar (B) Lora Roja
(C) Lai (D) Lechai

54. SPN{ ARG FRAF 61 [ew (acg

(A)  CSlcome T4 (B) B WP

(C) etz g4l (Zl (D) @Ta FCARE
54. SPICE AW S AwPeE TS (2

(A)  CeTCoPas g (B) f&= 7P

(C) IR TgAN ezl (D) eTefoml e
54. M fifafm sifafres wem Fmfifar ar?

(A) WL SEa (B) femmam

(C) HTfCTET Sr&aT Hed (D) <raferT swTETRe
54. Who is the first Olympic medalist of Assam?

(A) Bhogeshwar Baruah (B) Hima Das

(C) Monalisa Baruah Mehta (D) Lovlina Borgohain

55. WS F29 @55 2

(A) 7% (B) ™

(C) TR I (D) ST 2T
55. CEH FIOR 455 ?

(A) 7% (B)

(C) SICeTs ¢ (D) ST AT
55. GREERT AT A ?

INIESIERIEE] (B) @mf

(C) & @WraTEH (D) @i eI
55. Lightyear is the unit of

(A) distance (B) time

(C) speed of light (D) intensity of light
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Direction : Each of the questions (Question Nos. 56 to 61) is based on the passage given below.
The questions are to be answered on the basis of what is stated or implied in the passage. Choose
the most appropriate response that accurately and completely answers the question.

Lionel Messi could not believe it. Frankly, few could. Against the US four days ago, his divine left
foot had made the ball overcome a wall of defenders and curl and dip past a diving goalkeeper to
magically settle in the top left corner of the goal. It was not as much a free kick from 25 yards, but
a laser-guided missile. On Sunday night, in the penalty shootout of the Copa America final against
Chile, he hit it over from less than half that distance with nothing but the thick New Jersey air to
beat. The resultant 4-2 loss meant Argentina’s title drought, dating back to 1993, would continue.
It also ensured that Messi, one of the most decorated club footballers of all time, would not get that
one trophy with the national team he so covets. It will remain that way as Messi, later, announced
his retirement from international football.

His teammates have said it was a heat-of-the-moment decision and he would reconsider. Messi’s
unhappiness with the Argentine Federation, which is teetering on the brink of collapse, may also
have influenced his decision. Therefore, a return to sky blue-and-white, with the World Cup just
two years away, cannot be implausible. Nevertheless, if Sunday was his final appearance for
Albiceleste, what legacy does he leave behind? It is easy to brand him as an underachiever, given
his 28-0 club vs. country record at the senior level. But the picture is more complex. For one,
modern-day football has very limited scope for independent, individual flair. Two, what that
number does not show is both as a player and a captain, Messi has been instrumental in Argentina
making it to three major finals in the last two years, including the 2014 World Cup.

What remains unquestionable is Messi’s unimpeachable genius. His unparalleled vision, deft
touch, and nimble footwork have often proved to be the lifeline of his teams, be it at Barcelona or
Argentina. Yes, he may have missed that crucial penalty, but it is important to remember that
football is a team sport. It is equally about collective endeavour as it is about individual brilliance.

Clearly, the margin between an underachiever and a GOAT is very, very slim. It, therefore, depends
on how you want to remember Messi : Through his last miss or his last hit, that free kick.

56. What does the author mean to say when he comments, “Lionel Messi could not believe it”?
(A) Lionel Messi could not believe that he could not score a goal of a free kick during the
penalty shootout

(B) Lionel Messi could not believe that he had overcome a wall of defenders to score a goal
from 25 yards

(C) Lionel Messi could not believe that the football that he kicked from 25 yards hit the
goals like a missile

(D) Lionel Messi could not believe the ball that he kicked curved and settled in the top left
corner of the goal

57. When Messi missed the penalty shot, what result did that ensure?
(A) It brought criticism for Messi from all around the world
(B) It deprived his national football team of the Copa America Cup
(C) It made Lionel Messi so dejected that he had to announce retirement from football
(

D) It cost Argentina its chance of winning the FIFA World Cup
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58. What tone does the author employ when discussing Lionel Messi’s career and achievements
in the passage?

(A) Appreciative and celebratory
(B) Critical and judgemental
(C) Analytical and objective

(D) Emotional and empathetic

59. According to the passage, Lionel Messi’s decision to retire from the international football was
perhaps influenced by

(A) his unhappiness with the Argentine Federation
(B) the defeat in the Copa America final
(C) the heat of the moment

(D) the desire to focus on his club career

60. Which of the following can be inferred from the passage?

(A) Lionel Messi’s retirement from international football was solely influenced by his missed
penalty in the Copa America final

(B) Lionel Messi’s legacy as a football player is defined by his individual achievements
rather than his contributions to the teams he played for

(C) Lionel Messi’s individual brilliance as a football player is acknowledged, but it is
important to remember that football is a team sport

(D) Lionel Messi’s retirement from international football marks the end of his football career
altogether

61. Which of the following statements is supported by the passage?
(A) Messi has never won a major international trophy with Argentina.

(B) Messi’s individual brilliance outweighs the importance of collective endeavour in
football.

(C) Messi’s missed penalty in the Copa America final was the sole reason for Argentina’s
loss.

(D) Messi’s retirement from the international football is irreversible.
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62. (I GF AN [RE T oS 20% (F2IB 2ml F1 24 | 577 [ e [F0 1o i fest 3
o G JeT T 27908 2
(A) 20% (B) 25% (C) 15% (D) 30%

62. 41 AR R Yool Toa 20% RI© (171 2 | TG {7 Yeon F© 2o Jia Facet o [ qee
Tofire 2631 AR 2
A) 20% (B) 25% (C) 15% (D) 30%

62. HIFY FTEM BHAE SHAE 20% 8™ BHRE &R | ST BHAE d8E! of STRail SRSl A S8
i e e THE S ?

(A) 20% (B) 25% (C) 15% (D) 30%

62. A discount of 20% is offered on the selling price of an item. By what percentage the price
needs to be increased on the present selling price in order to bring it to the original selling
price?

(A) 20% (B) 25% (C) 15% (D) 30%

63. 5 T FPAR 5 werq 1ca 2ifsuea a1 #1412 ST FR 250 BWCAl | (908 10 &l FPFA1B 10 e q1cq
I 2NfCeT o FA TR 2]

(A) 1000 (B) 100 (C) 2500 (D) 500

63. 5 sl 5 fre IR afefa o9 e (b 250 o =7 1 wizeer 10/ g=fal 10 i 7= o “rece
O 1401 2
(A) 1000 (B) 100 (C) 2500 (D) 500

63. T 5 TR T 5 AFHTE! 3RS & RBeH IFNERT § 250 S| ¥ 10 #T 10 II=LSHAAT 313
AT TR iR SE
(A) 1000 (B) 100 (C) 2500 (D) 500

63. 5 hens lay eggs everyday for 5 days to the total 250 number of eggs. Then the number of
eggs laid by the 10 hens in 10 days is
(A) 1000 (B) 100 (C) 2500 (D) 500

64. IFE IFAG T[T O[S (22 THER TP IGEE F | FOFE TS G Tegerq e 7=
A 2
A) @ (B) @

(C) TIed FIe[ Aol (D) forea Fe™ Nzel

64. IfFE IFAG ©I2 oS TTHCE [N FIGCER T | FAFE T TG4 A TeGeaa 7o 5 2
(a) b (B) w5
(© fm (D) T
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64.

64.

FHiRE T foeT e 319 3w forn sweta fhemg | ient fom s SstaRT o1 @l S
(a) femm B) R
() T (fermfy formm) (D) fua (fererfa fomm)

Kanika’s only brother Abhay is the husband of Ujjwal’s mother Kajol. How is Kanika’s
mother Rajni related to Ujjwal?

(A) Paternal aunt (B) Maternal aunt

(C) Maternal grandmother (D) Paternal grandmother

65.

65.

65.

65.

P 9 R 9T ‘247" @ ‘spread red carpet’ I&R; ‘256° (4 ‘dust one carpet’ &R ¥
‘264’ (¥ ‘one red carpet’ &R | FTF 0! WF3 ‘dust’ @ ?

A) S (B) 2 C) 6 (D) 4

@I @Fo WM 7@ 247 WA ‘spread red carpet’; 256 W ‘dust one carpet’ @3]
‘264’ It ‘one red carpet’ (IR | €2 FRHCO (Tl A% ‘dust’ @R 2

(A) S (B) 2 € 6 (D) 4

o8 #e arEfed 247 171 AR ik | #e’; ‘256 T T aW #me 3 264 T GH T
e | FHaH e fom SR Tred’ ?

(A) S (B) 2 (C) 6 (D) 4

In a certain code, 247’ means ‘spread red carpet’; 256’ means ‘dust one carpet’ and
264’ means ‘one red carpet’. Which digit in the code means ‘dust’?

@A) S (B) 2 €) 6 (D) 4

66.

66.

66.

66.

ABCD 722 @b 4-93@ MY, T A T B @1Fe C S DT 5 (1ce I | A SF DI
QI5FE C q I S B HF DT @A A S® C e 139 | RO A IE S Szhq
Ee R 2

A 7 B) S € 9 (D) 8

ABCD &35 4-SF{Af¥8 M40, (@0 A G B-99 @9Fe C @3} D-EF @I T | A §3R D~
Q@9 C-9F I 9% B ¢ D-G9 @0Fe A @R C-9F @IOIFCerd [ael | 212 @R (- SCHA (91
S ?

@A) 7 B) S € 9 (D) 8

ABCD 31 OF® 4-fs@m ma7 Wi Skia A 9 B T3 g ¢ o D WSSt g |
A IR D T3 S_e@En ¢ S "HE 3R B 3R D [ aNeEEn A o ¢ 1 eremae wEa | Aty e
SIS IERIRELICIERASIERItRIRCE kY

A 7 B) S € 9 (D) 8

ABCD is a 4-digit number where the sum of A and B is equal to that of the sum of C and D.

The sum of A and D is equal to C, and the sum of B and D is twice the sum of A and C. What
is the sum of the first and the last digit?

@A 7 B) 5 € 9 D) 8
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67.

67.

67.

67.

(PTG HECPE SN PP S TN 4T JOFE GFS HRPa Do SCR | 7qe ([=ece]
TR T 2 LS [{Arel W | KA ity W wras Sepeel S A Hifee qens gee iRe
SIERT 4l 7R | GF Jore Reerent HiRcwe Scaie) = 2

A) 5 (B) 6 ) 7 (D) 8

FEFG P BEF (F ST SAOGwel o1 F(F G0 e “[C ABF HIENhz | ©2F, 2[eTa
forege g3z [RAel, 70T TNy | /RSl 13 AR SRR (e AR Weew @3R feias W, @
TR SRPTRE FACR | TG TP BleTd 2B iR 2

@A) S5 (B) 6 <€ 7 (D) 8

T HTEehel AT TESt e SHARITATRAT HE sig" Hel( 2ohTd ATghal HITIEl | auHT qeq 37
A fafaarn gets fom | fafaarn maf om0 e Tsrra wr |rgehe areeREn gei S quaH 3 e g |
S Johd HeH HTEehel ATAEUTHR &7

@A) S (B) 6 € 7 (D) 8

Few cyclists are pedalling in a circular track, without overtaking. Tapan is behind Pawan,
and Vinita is in front of Pawan. Vinita can see two cyclists between herself and Shalini who
is following Tapan. How many cyclists are there on the track?

A) 5 (B) 6 <€ 7 (D) 8

68.

68.

68.

68.

91 BIfefere 2! Wp-fciie G¥e GIepcd Yl (I Fere Siolq 77 fsichl «foa wfEpecst feiire 27« |
Qe PRAME IfZ @3 PO o Af6T e F1ee aife S0z | FREMTIAE 24Fece @ e aifs
P 2

(A) Wl (B) “IFw (C) Ted (D) &

G TR I 2R - oo qlb Gie di= oG9 weel [ e feet @9 o wfEe e foe
FCe | @3 AT ST @R o SR~ e e e | afel spice @im e 2o 2

(A) W (B) 5w (C) Teq (D)

I8 M Hue™ g o fEmn wern sl geme s freta amenty e s |
wrety fefoetamr | @ gex mien B werm fifFam awafe aemefs srarmeerst | mien oR 59 ety
AT ?

(A) e (B) @SS (C) et (D) @I

The direction pointer at a road crossing got hit by a truck, and what was earlier East is now
pointing towards South. A car came and started moving towards West as per the pointer.
Which direction is the car actually moving?

(A) South (B) West (C) North (D) East
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69.

69.

69.

69.

W oeaTR 2% ¥5-25 IR @R =, W5-75F (Trehr &, (Sreh 43 @F & AT @1 4T T
2’ 1 @R R, (B (N1 NG (FRY QBT @hwl (R =11l 2

A) el &’ (B) [ &’
(©) feogm o’ (D) -+
M SRS FCmeIcs @ e 31 =1, @a e 0 fos 3o =1, 3 s el fos 31

) G 2T S DS FCaFel o0 =, ©IRee SREhIeR (Pl 2AfSaIaTer S e W 3@
277

(A) =i foceser (B) =ref® frs
(C) TIPS Tl (D) @7 oI
S fewerm 9@t we-g2 ge1, e-geE Al 9, Siufed 9@ TAR 9 AR 3R 9 e fouewm o, Stsan

T TIATH FEEARE! T FHR ARSI e ?
A) Sufer o’ (B) TR Y
(C) fewema o’ (D) -

If Discus Throw is called Shot Put, Shot Put is called Javelin Throw, Javelin Throw is called
Hammer Throw and Hammer Throw is called Discus Throw, then which athletic event is
played with a pointed equipment?

(A) Javelin Throw (B) Hammer Throw
(C) Discus Throw (D) Shot Put

70.

70.

70.

70.

G FICART TS 81 ST el 69 I 15001 FF S b6 S0 | BF© (741 9’31 7051 I81 36T
IF 12001 FF CE | AW T 787 1851 516 BT, (ST (TS A7 8] I FF9 SR Fw7 2

(A) 48 (B) 12 (C) 58 (D) 62

@FH FCTT @RI @6 1500 T @3 =6 e, @@ 27 @@ a1 Ter | e 70 e v @R
1207 % Fcacz | A 186 et *16 AT, ©rzce (R Fol e FF R 2

(A) 48 (B) 12 (C) 58 (D) 62

T4 T8 ®EI TR e wen e meaf T T 150 Wk SR WE | S qMied 70 TS et ga
A M 120 F & | It 991d M 18 fen ety wé 2, 1ean o TArETE Mo WS Bk &7

(A) 48 (B) 12 (C) 58 (D) 62

A cloth shop has a total of 150 frocks and shirts, which are either red or blue. In stock, there
are 70 red items and 120 frocks. If there are 18 blue shirts, then how many red frocks does
the shop have?

(A) 48 (B) 12 (C) 58 (D) 62
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71. 1 ¥ 100 T Er© 3-SR S [A#I0] Frelfs A e 2
(A) 90 (B) 99 () 91 (D) 89

71. 1 9R 100~ e D Y2-SRCF FeIR FR] CR ?
(A) 90 B) 99 () 91 (D) 89

71. 1 3 100 T o Aee@ I-fomm e e smafsmn g7
(A) 90 (B) 99 (C) 91 (D) 89

71. How many two-digit natural numbers are there between 1 and 100?
(A) 90 (B) 99 (C) 91 (D) 89

72. (I G IO W AP AN (S99 GURT & Gl 2’ | M WICRR JqCH20! SR (FUI OO
TAPRE @RGE TRANES 71 27, (908 72 fageid! 277 «3
(A) e fage B) e fags
(©) M faew (D) a2 fagw

72. 6 JCe T SR 24 AR O PR A | AW Soiid a8 el 3een (@ewa Y e @R AEl
& 91 =, o1 e fagets 251 @i
(a) gce fags (B) v fagw
(©) M faew (D) a2 fayw

72. HE SEAE S ffererE SHE S et e s aemeEst a9 | fafaemE o saaf
forestt AT TEm gMEl WGl STSTEisell SIS STRATFIATHT ST T
(A) T ATETIm (B) Tfer ATy STraf-rem
(C) Ty SrETforem (D) RIS TRATY STRET(-em

72. A chord of a circle is drawn whose length is equal to its radius. If the endpoints of the chord
are joined to the centre of the circle with appropriate line segments, the triangle formed is
a/an
(A) obtuse-angled triangle (B) scalene triangle
(C) right-angled triangle (D) equilateral triangle

73. (I G Ao e fe TUFe Cefe wie drers afe® O dfelaid wfes e e
GCFRECE P SR | TSTS T o P FL] (22
(A) 10 (B) 25 (C) 15 (D) 5

73. b (I9CF “vem e GIige 2afRE @R ACeR e 0GR ST A FAN FCAREA | (T9CP
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73.

73.

MY SYEEE "6 YER S SRHE R fTERf areme e ge 9wl @9y odds dem |
FYATATE A SraEehi SIS
(A) 10 (B) 25 (©) 15 (D) 5

In a meeting, five persons assembled and every person shook hand with every other exactly
once. The total number of handshakes made in the meeting is

(A) 10 (B) 25 (C) 15 (D) 5

74. 01 T 364 g B Ifer RIval 391 29F | @ @3 2ive 9 242 frecs! I @R =, ooz B
el 499 212w feIchl 279
(A) NS (B) 3[R
(C) wT™ (D) IRE=
74. @ IF G0 I2A 364 71 wCz | AW 27e IR AN e IR 2, O BF A7) q=cqd AW W io
2
(A)  CTNRE (B) ¥«
(C) W& (D) @™
74. TN A SEREAE 364 GF RN | FEAN AR S99 Y SR fifs g deer smesar st At
ERNERUIERSICIESIC]
(A) HHER (B) gueR
(C) IR (D) IeEmr
74. Let a year consist of 364 days. If the first day of the given year falls on Sunday, then the first
day of the immediate next year is
(A) Monday (B) Wednesday
(C) Friday (D) Sunday
75. FRIRSTET @M @bl 7jefasf e 72w 2
(A) 3721 (B) 1296 (C) 1026 (D) 1369
75. A (@0 96 7jefasf Fge 7 2
A) 3721 (B) 1296 (C) 1026 (D) 1369
75. TR So T 3T a1 ST 917
A) 3721 (B) 1296 (C) 1026 (D) 1369
75. Which one of the following is not a perfect square number?

(A) 3721 (B) 1296 (C) 1026 (D) 1369
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76.

76.

76.

76.

IS

TP, Teamee (A& FILAE A°C | o7 Pre (08 CIFIcE o7'a oiF [ Pre qeme | SReRs,
G [FERER @EE PR, (96 779 AeMe o’ | qfeql (@8 @RS {5 R ?

A) Teq (B) Wl C) . (D) 6%

TIE TEMCS BEICR | PR “[ (7 OF TS (WIT T 93 g 5o 79 (37 TN (e ¢ |
SR 93 RFCEANGA 712 HoTR #[ O ~[7AR AEMCE (T T | TEACA (T (FAMCE 5L 2

A) Teq (B) W=l ©) (D) IF¥5w

TR EeS1 aaEel | S8 39E foon et swerfy e o 9 39 eS| SeAEmE, 8
foret e aremArfa 39, fsn ety smmfest fiféet | forn a1 safer oei?

(A) e (B) HraTal (C) HHSITET (D) @&

Ramakanta walks Northwards. After a while, he turns to his right and a little further to his
left. Finally, after walking a distance of one kilometre, he turns to his left again. In which
direction is he moving now?

(A) North (B) South (C) East (D) West

77.

77.

77.

77.

5, 8, 159 vl MFFINeT (22

(A) 18 (B) 24 (C) 19 (D) 20
5, 8, 15-43 5% 7oL 21
(A) 18 (B) 24 (©) 19 (D) 20

5, 8, 15 T sifyr s/ wen

(A) 18 B) 24 () 19 (D) 20
The fourth proportional to 5, 8, 15 is

(A) 18 B) 24 (¢ 19 (D) 20

78.

78.

78.

78.

T HF JFC @B I 72 WMo IR MG | I S A9 PN 120 e T AT | W I
AMPCT (72001 90 freTe FAT 71CT | SFeel Seel e e FICH! FI #[1 2

(A) 120 fwere (B) 100 fwere (C) 80 frr® (D) 150 fr=r®

T G T G0 e 72 e A0S A | T G AN (2 s 120 e FACS Al | oRE @1k
e 12 Fref 90 e FACS “I1CH | SRE Gl FE(B POMCa FICS 2IRCT 2

(A) 120 frc (B) 100 frce (C) 80 fues (D) 150 fce

IV AW TN WA WIIET 72 " WEE S| S I figer sw 120 9HE "ieE g 2T
AR frgan S 90 HHTE HIaHT BT | 3T o WIiidl SRS SEE THTE HaH! g ¢

(A) 120 @H (B) 100 @ (C) 80 @™ (D) 150 @H

Arun and Barun can do a piece of work in 72 days. Barun and Gitu can do it in 120 days.
Arun and Gitu can do it in 90 days. In what time can Arun alone do it?

(A) 120 days (B) 100 days (C) 80 days (D) 150 days

cwT—2025/P-1/301-D 36




79. {476+424)2 —4 x476x424} =?

(A) 2906 (B) 2706 (C) 2704 (D) 2904
79. {(476+424)% -4 x476x424} =?

(A) 2906 (B) 2706 (C) 2704 (D) 2904
79. {(476+424)% -4 x476x424} =?

(A) 2906 (B) 2706 (C) 2704 (D) 2904
79. {476+424)2 -4 x476x424} =?

(A) 2906 (B) 2706 (C) 2704 (D) 2904

80. TE AFMRIMICHTS 2R 5 (P)7 TT® T7ge MRANCH! [ 27 2
C:16:E:36::G: ?
(A) 64 (B) 40 (C) 25 (D) 50
80. fafeIiRe errIfCS 2 o= (?)f6 2fswrrm Tam TR e Fi 2
C:16::E:36::G: ?
(A) 64 (B) 40 (C) 25 (D) 50
80. ity feAf (?) SrrmTE MEEM wREEH TRIsAE Af<wE 31 S ?
C:16:E:36::G: ?
(A) 64 (B) 40 (C) 25 (D) 50
80. What is the appropriate number to replace the question mark (?) in the following expression?
C:16::E:36::G: ?
(A) 64 (B) 40 (C) 25 (D) 50

81. OO *RYETS HWE FRIICH! F 2
22, 33, 66, 99, 121, 279, 594
(A) 33 B) 121 (C) 279 (D) 594
81. AIHA *BEID (AF S R e 79
22, 33, 66, 99, 121, 279, 594
(A) 33 (B) 121 (C) 279 (D) 594
81. TEEM WM TR stf~mm fog
22, 33, 66, 99, 121, 279, 594
(A) 33 B) 121 (C) 279 (D) 594
81. Find out the wrong number from the following sequence :
22, 33, 66, 99, 121, 279, 594
(A) 33 (B) 121 (C) 279 (D) 594
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82.

82.

82.

82.

E (2’ Ad 7@\ D (2% BT %@ | EJ a1 (2r €I C1te | C (2 BI &S | D WIF EF (& 794
&2

(A) e (B) == (€) =3 (D) fefifz

E 75 A-49 *[@| D 25 B-49 %@ | E-«¥ {412 20q0= C-99 0% | C 2 B-49 Fo011 | D 4R E-<3 T
ST 2

A) i (B) I (C) == (D) *NleT<s

E 3 AT fharsan| D 31 B H fharsall E 311 C @1 §id @@l C 31 B M fasi | D 31 ES o1 9Hi=l
ST ?

(A) a3 B) fommz (€) form (D) Teorsttri

E is the son of A. D is the son of B. E is married to C. Cis B’s daughter. How does D relate
to E?

(A) Brother (B) Uncle (C) Father-in-law (D) Brother-in-law

83.

83.

83.

83.

9Bl AR fags, @b I5cha o bl ged RSN W | I T fage cFawe I, S @ fewas
CFGFA SF CTH J&I CFaza oI, (98

(A) S<T<CcC B) T<C<S (C) T<S<CcC D) C<S<T

g3l AR fags, 99t PfcFa @2 93l Jeeq RSN MW= | AW T fageen cvawe, S efewas
CFAFS G9% C J0eq CFaFe T A, O

(A) S<T<C B) T<C<S (C) T<S<C (D) C<S<T

T8 TR ST TR, T o TR A8 sEq arife fammen quqm) T oo Sint-oremi
Fifert ffFommse, S o sif wifer@t I C o1 st Fiferat, e

A) S<T<C B) T<C<S (C) T<S<cC D) C<S<T

An equilateral triangle, a square and a circle have equal perimeter. If T denotes the area of
the triangle, S the area of the square and C the area of the circle, then

A) S<T<C B) T<C<S (C) T<S<C (D) C<S<T

84.

84.
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2P 5= (7)7 TS 32 2
CBD, GFH, KJL, ?, SRT
(A) QOP (B) WVX (C) POQ (D) ONP
P 5= (P)-99 Fiew J T 2
CBD, GFH, KJL, ?, SRT
(A) QOP (B) WVX (C) POQ (D) ONP




84. wify Al (?) STEFTRTE A= HAY
CBD, GFH, KJL, ?, SRT
(A) QOP (B) WvX (C) POQ (D) ONP
84. What should come in the place of question mark (?)?
CBD, GFH, KJL, ?, SRT
(A) QOP (B) WvX (C) POQ (D) ONP
85. Y& V(2 A %W'{*[ (9¢eTeq, Q—ZW?“T A TF R 65 FEoR (45 F1 o 3 | (989
Fopef R el (0%
(A) 65 fEnfinE (B) 100 Feenfite
(C) 120 facenfisE (D) 130 FeenfitE
85.

85.

85.

aﬂmﬂwwmﬂzmgww @, %@Imwmaﬁ 65 RCTRBE 712 7 26 Sfea™
T | O A TI@eee el 2

(A) 65 fFcafoE (B) 100 fFcanfioE

(C) 120 fFeenfivE (D) 130 fFcafioE

wmwwmﬁgmw%mmmmwmmmmﬁ
RICCIHREICRICRIICOEIRI

(A) 65 e fier (B) 100 Tt fiew
(C) 120 frer’fier (D) 130 Tt fer

A man covers % of the total journey by rail, % by bus and the remaining 6-5 kilometres on

foot. His total journey is
(A) 65 kilometres (B) 100 kilometres
(C) 120 kilometres (D) 130 kilometres

86.

86.
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GG '3 20 .7, /9% @9 999 Y9 wemes @ S 9490 @sfe wee 30 UL /961 @6 |
(SCT2TE (999 3 T 91T (J9l foyefy 1 |

(A) 25 5.5 /960 (B) 26 .. /9%

(C) 24 .[. /9% (D) = S|l

@3H A 20 .5, /96 @of AT (e e w9 30 (.60 /960 sifec@es afe @ =iet |
SR AR el ool 34 |

(A) 25 .8 /960 (B) 26 .. /9%

(C) 24 .8 /96! (D) ==y SpTjef




86. TH TE@ET 20 o fio /amer mraforma Ffw™ wErfafim ot o Ffem fifemm ®fer 30 o firo/
o1 TRAferEE | stean fafy & araemenTaft e Mty fag

(A) 25 o fio /g (B) 26 o fio /g
(C) 24 fho fio /w1 (D) @R 31rg A=t

86. A boy moves from his house to school at the speed of 20 km/hr and returns back at the
speed of 30 km/hr. Find his average speed during his journey.

(A) 25 km/hr (B) 26 km/hr
(C) 24 km/hr (D) Data insufficient

87. & 'R GBI FRIF % Fetfe] %@ o[q°] PIRCE S T 9GS o *[S1e TH1e 2
(A) 36% (B) 56-25% (C) 64% (D) 84%

87. amwaﬁmﬂm;wmww 6%%@qW|WWﬁWw q el fefy

9|

(A) 36% (B) 56:25% (C) 64% (D) 84%
s7.wammmm§ﬁw%ﬁmwmlmmwwaﬁ

SREGIT S ?

(A) 36% (B) 56:25% (C) 64% (D) 84%

87. A boy multiplied a number by % instead of g Find his error percentage in calculation.

(A) 36% (B) 56:25% (C) 64% (D) 84%

88. 20057 8 (TFAI]! W%E T | 2004 F 8 (FFAR ALCOR F A9 R 2
(A) edq (B) CTRR (C) R (D) M@=
88. 8 (FFEI, 2005 f2el THe|IF | 8 (FEFE!, 2004 FAYCIF (FIe| A9 f2e 2

(A) IR (B) CINEH (C) TR (D) I
88. 8%hgdI, 2005 3 HIGERHN | 8 HgdTll, 2004 7 Fraref awm=m AMm™H?
(&) e (B) W () TR (D) g
88. On 8th February, 2005, it was Tuesday. What was the day of the week on 8th February,
2004?
(A) Sunday (B) Monday (C) Tuesday (D) Wednesday
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89. SBIZS(F TSI B BFT M R 12, 15, 18 BF 27 (F 7=7fSIca 299 17 7[1 I[ G13ch] 274
(A) 9720 (B) 9725 (C) 9730 (D) 9735
89. 12, 15, 18 €R 27 @I F~7fme~l fqeien bR SCwd J2ed MANG 2
(A) 9720 (B) 9725 (C) 9730 (D) 9735
89. sAfgs WA A fommfa smfsmr Smrt 12, 15, 18 IR 27 S T 2R 41 Sat
(A) 9720 (B) 9725 (C) 9730 (D) 9735
89. The largest number of four digits exactly divisible by 12, 15, 18 and 27 is
(A) 9720 (B) 9725 (C) 9730 (D) 9735
90. \/10+J25+\/108+maw ta=
A) 4 (B) 6 C) 8 (D) 10
90. \/10+\/25+\/108+m—¢1§WW?
A) 4 (B) 6 C) 8 (D) 10
90. \/10+\/25+\/108+mﬁ%@=ﬂ
A) 4 (B) 6 C) 8 (D) 10
90. The value of \/10+\/25+\/108+m is
A) 4 (B) 6 C) 8 (D) 10
91. 10 3fve aa &b (AT AT I (2R 32. RS 3@ B I PfAce (969 1 AT 4 I
A2
A) 2 (B) 4 (C) 70 (D) 76
91. 10 30T GFae [FCFb (YCERIT-GF 5T A4 29 32. ©F 9C T4 4 e FACO 2031 RS BT O
IO A FACS 2 [ ?
A) 2 (B) 4 (C) 70 (D) 76
91. T fohere NAfRE 10 el T8 T 32. 3 e svet 17 Temsan o = 1= 4 sma?
A) 2 (B) 4 (C) 70 (D) 76
91. The average of runs of a cricket player of his last 10 innings was 32. How many runs must

he make in his next innings so as to increase his average of runs by 4°?

A) 2 (B) 4 (C) 70 (D) 76
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92.

92.

GG T2 (ST AT TS 24 T2 TS | 2 29 RS ARZSR T (969 79 T 789 2 |
(& @9 T T (20”

(A) 14 =g (B) 18 =3

(C) 20 =1 (D) 22 =1

GG G O 2I9 (AF 24 TAT T | 2 T2 °CF ©F T O 7l W g 29 1 e O
[0 T 29

(A) 14 =7 (B) 18 =7

(C) 20 7= (D) 22 7=

92. UM WHRHA Maf freasariigs 24 FER [EA| 2 FER e o e et S| wEa SmE|
ToraTSaTT &t SEeT
(A) 14 FER (B) 18 &R
(C) 20 FER (D) 22 TR
92. A man is 24 years older than his son. After 2 years, his age will be twice the age of his son.
The present age of his son is
(A) 14 years (B) 18 years
(C) 20 years (D) 22 years
93. 9bl WeT® (SR IO YCAI4A 2T© Gratsl = ?
A) 24 (B) 22 (C) 21 (D) 20
93. «3f5 wfx b FIb1 e e et a2
A) 24 (B) 22 (C) 21 (D) 20
93. THUIE TH TR WY HIT W™ 3 STem ?
A) 24 (B) 22 (C) 21 (D) 20
93. How many times do the hands of a clock coincide in a day?

A) 24 (B) 22 € 21 (D) 20

94.

94,
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(8 + 88) x 8888088 = ?
(A) 808008 (B) 808080 (C) 808088 (D) 8008008
(8 + 88) x 8888088 = ?
(A) 808008 (B) 808080 (C) 808088 (D) 8008008




94.

(8B+ 88 x 8888088 ="

(A) 808008 (B) 808080 (C) 808088 (D) 8008008
94. (8- 88)x 8888088 = ?

(A) 808008 (B) 808080 (C) 808088 (D) 8008008
95. 9bl (IS 50 *26l, 25 26 W 10 “’B6R @R 7RI 4 : 5 : 9 Weg7ro® wifee | Acz SGRRM [@=

95.

95.

95.

T 830 B =, (SR CE 25 #[25[ qu R4 R wifew 2

(A) 800 (B) 1000 (C) 1800 (D) 900

«3f5 9 4 1 51 9 TGACS 50 kP, 25 A € 10 “ROTR T SAcz | A @R @ 77 830
=7, o Ifbre Fosf 25 “RPIR @l @i e 59 |

(A) 800 (B) 1000 (C) 1800 (D) 900

Y sATE 50 %1, 25 HHE1 R 10 FT @R oHfm 4 ¢ 5 @ 9 TsEEE uH | It wReii & S8
830 T SN, 3Tscll 25 HaETH Wiy M= s8st qH?
(A) 800 (B) 1000 (C) 1800 (D) 900

A bag contains 50 paise, 25 paise and 10 paise coins and the ratio of the numbers of coins is
4 : 5:9. If the total value of all the coins is ¥ 830, then find the number of 25 paise coins in
the bag.

(A) 800 (B) 1000 (C) 1800 (D) 900

96.

96.

96.

96.

Tt @B (oleTFa PN 10% I 2, (T2 T (ANFTFCOIA SRS F0e *oieet i 279 2

(A) 30% (B) 21% (C) 33-33% (D) 33:1%

T @M (OMETCFT AP 10% I F1 28, O CINETF0A SR F© *[0l* I A1 2

(A) 30% (B) 21% (C) 33-33% (D) 33-1%
T g T 10% T, G AT S S S
(A) 30% (B) 21% (C) 33-33% (D) 33-1%

The radius of a sphere is increased by 10%. By what percentage will the volume of the
sphere increase?

(A) 30% (B) 21% (C) 33-33% (D) 33:1%
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97. IR M 7S G oelre I
A+ BYIGq A (22 BT W9
A- BYIG A (2@ B3 g
Ax B A (2% B 31

(SC8, o (FIICHICE P (T (& 271 . (0169 SEal 2
(A) TIeos @6 + e + (e (B) . @6 — @ferency x (&=
(C) TITEs @6 x (& x «@fereicae (D) f. @ - @feTsEy + (&=

97. IM I FREGF @I T $fF @

A+ BYI(q A %5 B-€q Wrol
A—- B A% B-97 ol
Ax BYIGsl A% B-49 (@I

OI2CE, NCEA @D o e @ (& =91 . @eh-99 Fem 2
A) FIoPT @6 + afersEY + (o (B) . @b — @ferse x (&
(C) FIoPT @b x (& x @ferenca (D) . @ — @fere@y + (&=

97. i <Gl W HESTsl

A+BAHR A3 B 3 fam
A-BAR A= B f fawm
Ax BHH A3 B 3 oA

SFscl, MR e 59 31 o s=af fharsn gen fefem?
() Tt a9a + ofasmey + S8 B) fio ¥a — e x S
(C) ot a°a x S x Tfersmey D) firo ¥¥a — uferemer + S

97. If we represent the relationship as
A+ B indicates A is the mother of B
A — B indicates A is the father of B
A X B indicates A is the sister of B

then which of the following indicates that Jane is the daughter of Mr. Bennet?
(A) Mrs. Bennet + Elizabeth + Jane (B) Mr. Bennet — Elizabeth x Jane
(C) Mrs. Bennet x Jane x Elizabeth (D) Mr. Bennet — Elizabeth + Jane
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98. bl 90 B x 50 G We¥ WFOFR TP O (799 @[l @< #1esl | A @ e YoiEs 5 [oiw
YRS 91 2, (OB FAWH! YO LS 277 2
(A) 55 (B) 56 (C) 57 (D) 58

98. 90 bR x 50 oI GFlb ST T ForerE fey @2 free =7 | 37 @orn e 5 Rom ey
SAE B, O3 Fosfl b e 207 ?

(A) 55 (B) 56 (C) 57 (D) 58

98. 90 fiRR x 50 fiER SFETH WY Pd Wet B! Sal GAAT 3| SIfe SEw gramd! 5 ffer Mo g
ST, 3T T e GrorT AT ¢
(A) 55 (B) 56 (C) 57 (D) 58

98. A rectangular plot measuring 90 metres x 50 metres is to be enclosed by wire fencing. If the
poles of the fence are kept 5 metres apart, then how many poles will be needed?

(A) 55 (B) 56 (C) 57 (D) 58

99. ALSHIF I99 fooqw T FeIRTOCF €4 g T S € 72 | 4fgF AT e [F7 erETels
BI°[ | I (SSTETF (SSTENFT THOR T 247 2¥, (O3 (FICe AT AF 2
(8) e (B) AP (©) FI (D) ¥

99. b IR Ty Je| FECER (5CH o131 6% I0o- ool 7 1 | g T Dizee o7 o7 wfecwsa viRee
<ICH1 | M S OIewE TR T GIC WORI, ©CF (F 2T AR ?

(a) s (B) (C) Fr (D) e

99. HET AMMGRM TSRE LM FUNAGE TS @ T8 a1 M 71| gfas Tafrgs i amem
TR gE TERA | o site fears MeRHmE iy Tesiean i fifsma 9 sme?

(a) e (B) ©) Foma (D)

99. Among five friends, Mahesh is taller than Kunal but not as tall as Yash. Hrithik is taller than
Yash but shorter than Abhishek. If they stand in increasing order of their heights, then who
will be the first in the line?

(A) Abhishek (B) Yash (C) Kunal (D) Hrithik
100. W 751 FHE TRAF T 20 27, (I AGIRS(F TeT TRABI F 27392

(A) 20 B) 22 (C) 23 (D) 24
100. GG 75 TR 51T 267 20. @ FRANSH Texy Jzew TR 2o

(A) 20 B) 22 (C) 23 (D) 24
100. HH 7 W SFHANHEI TN 20. SHRH G SR

(A) 20 B) 22 (C) 23 D) 24
100. The average of 7 consecutive numbers is 20. The largest of these numbers is

(A) 20 (B) 22 (C) 23 (D) 24

cwT—2025/P-1/301-D 45




SPACE FOR ROUGH WORK

cwT—2025/P-1/301-D 46



SPACE FOR ROUGH WORK

cwT—2025/P-1/301-D 47



SPACE FOR ROUGH WORK

cwT—2025/P-1/301-D 48



	Cover-D
	Set-D_(1-100)

